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10- A three-phase transformer have a (11000/400 V) voltage ratio. Turn ratio for delta-star connection is
a-20
b-40
c-50
d-30
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4, Delta/star transformer works satisfactorily when
(a) load is balanced only
(b) load is unbalanced only
(c) on balanced as well as unbalanced loads
(d) none of the above
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5 . An ideal transformer is one which has

(a) no losses and magnetic leakage

(b) interleaved primary and secondary windings

(¢) a common core for its primary and secondary windings
(d) core of stainless steel and winding of pure copper metal
(e) none of the above




image7.png
6 . The leakage flux in a transformer depends upon
(a) load current

(b) load current and voltage

(c) load current, voltage and frequency

(d) load current, voltage, frequency and power factor
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7. An ideal transformer will have maximum efficiency at a load such that
(a) copper loss = iron loss
(b) copper loss < iron loss
(c) copper loss > iron loss
(d) none of the above
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8: The size of a transformer core will depend on
(a) frequency

(b) area of the core

(c) flux density of the core material

(d) (a) and (b) both
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9. A transformer has an efficiency of 60% and works at 5kW. If the secondary voltage is 150 V, then what is the secondary
current?

a)10 A
b)20A
¢)30A
d)40A
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The power transformer is a constant
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(a) voltage device
(b) current device
(c) >ower device

(d) main flux device
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2 . In a transformer the tappings are generally provided on
(a) primary side
(b) secondary side
(c) low voltage side
(d) high voltage side
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3. Star/star transformers work satisfactorily when
(a) load is unbalanced only
(b) load is balanced only
(c) on balanced as well as unbalanced loads
(d) none of the above




